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Direction : Answer the following questions by selecting the most appropriate option.
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1.

3.

Sixteen years old Neeraj is attempting
to develop a sense of himself as a
individual.

separate, self-governing

He is developing

1)
@)
3)
(4)

hatred for rules
autonomy
teenage arrogance

maturity

The habit of telling lie of children may
be improved by

ey
()

Punishing them

Giving lecture on the bad effects
of telling a lie

(3) Giving examples of children who
speak truth

(4) Awarding children who speak

truth

According to Stanley Hall the period
of great stress and storm is

(1) Adulthood
(2) Childhood
(3) Adolescence
(4) Infancy

Creative answers require

(1) Open ended answer type questions
(2) Content based questions
(3) Closed answer type questions

(4) Direct questions
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5. Which of the following factor influences

personality development of a child ?
(1) Hereditary

(2) Physical environment

(3) Social environment

(4) All of the above

Which law of Thorndike indicates the
importance of award and punishment

in learning ?

(1) Law of readiness
(2) Law of effect
(3) Law of exercise

(4) All of the above

Which of the

developed in adolescence ?

following 1is not

(1) Ego-centralism

(2) Interests

(3) Reasoning power

(4) Ability of observation
What

bringing change in the behaviour of a

effort will you make for

problematic child ?

(1) Make effort to bring change in
child's environment and attitude.

(2) Try to improve by punishing the
child.

(3) Will not pay attention to him/her.

(4) Will seat him in the front row in

the class.
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9. Which

10.

11.
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of the
considered as exceptional type of
children ?

following is not

(1) Slow learners

(2) Creative children

(3) Physically handicapped

(4) Resourceful children
Newjobsinfo.in

To check rising anger in the learner,
the teacher should

(1) give protection to all his interests

though undue.

(2) not interfere in the child's

everyday affairs.

(3) give him more work to provide

him no time to get angry.
(4) see that he gets very favourable

treatment in the classroom.

Which of the following factor will not
help in improving the memory of a
child ?

(1) Repetition and practice
(2) Taking help from rhythm

(3) Proper grouping of subject-matter

(4) Theory of motivated forgetting
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12.

13.

14.

15.

Generally the following characteristic
of physical development of girls and

boys are observed
(1) Development is equal in both at
the same age.

(2) Boys are two years ahead in
physical development.

Girls are two-three years ahead
in physical development.

Girls are five years back than

boys.

3)
(4)

What is not important to keep mental

health of the students ?

(1) Provisions of co-curricular
activities
(2) Revision of the syllabus

3)
4

Allowing freedom of expression

Paying attention to difference in
interests

Which of the following is a problem

related to teaching-learning ?
(1) Problem related to understanding
of subject-matter

Indiscipline in classroom

Copying in examination

Reaching late in class

@)
3)
(4)

A child first learns moving his hand,
then fingers and then hand and
fingers together. Which principle of
growth and development 18
represented by this example ?

(1) Principle of continuity

(2) Principle of integration

(3) Principle of general to specific

(4) Principle of individual differences
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16.

17.

18.

19.

20.

A

Observing a child while playing in
school ground is an observation of

(1) Formal

(2) Informal

(3) Participant

(4) None of the above

Which
important role in mental growth and

of the following plays an

development ?

(1) Learning

(2) Maturation

(3) Both Learning and Maturation
(4) Social Norms

Which of the following is not a

personal factor affecting social

development of a child ?
(1) Peer group

(2) Health

(3) Emotions

(4) Intelligence

Peer pressure has its highest effect
during

(1) Early childhood

(2) Middle childhood

(3) Early adolescence

(4) Later adolescence

Following is influenced by maximum

utilization of senses by students

(1) Teaching process

(2) Learning process

(3) Learning product

(4) Learning product and process
P.T.O.



21.

22.

23.

24.

frafafad & 9§ d9-d o9fas faed
Gaer fagwar 78 ?

(1) s @t wgi g aen |
(2) YT HY AR FA B Y
(3) TEIHE TG & ML HET
(4) HEANTT® g

I & GET T aReee &, 98§

(1) SAFYSRo
(2) FTIER

(3) T wgr
(4) TG

frafafag & @ FraEen & Gy H
HF-AT HI TE FET © °

(1) ®F TdN SIaRs T aed uRads
fem 3 21
(2) T& oMY TS M Bl & |

(3) P& I T dM TF WA w;
T A S |

(4) -G FH & T 2|

TS 9 | {6 fawg o o ar ?
(1) esieme

(2) e

(3) THIMEH

(4) AR

Level-2/252

(8)

21.

22.

23.

24.

Which of the following is not a

characteristic related to mental

development ?

(1) Instinct of curiosity in abundance
(2) Tendency of rote learning

(3) Abundant creativity

(4) Cooperative attitude

Learning by practice is a modification
of

(1) Motivation
(2) Behaviour
(3) Basic instinct

(4) Drive

Which

is incorrect

of the following statement

with reference to

adolescence ?

(1) Many new internal and external

changes are observed.
(2) This age is highly emotional.

(3) Intellect tries to reach to its

extreme limit.

(4) Self-consciousness is reduced.

Earlier psychology was a part of
(1) Philosophy

(2) Ethics

(3) Logic

(4) Physics
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25.

26.

27.

A

Which of the following statement is

not correct ?

(1) Creativity 1s originality in any

art.

(2) Thinking is

creativity.

not required for

(3) Creativity is a new consequence

of a work performed.

(4) Creativity must have utility for

society or for any group.

A teacher has to be resourceful. It

means

(1) He should have enough money
and property.

(2) He should have contacts with
higher authorities.

(3) He should

knowledge to solve problems of

have  adequate

his students .

(4) He should have good reputation

among students.

Method for identifying gifted children is
(1) Observation

(2) Intelligence test

(3) Personality test

(4) All of the above
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28.

29.

30.

Which statement is wrong in the

context of personality ?

1)
@)

Personality is unique and specific.

Personality is a joint product of
heredity and environment.
3)

Personality spreads over the sub-

conscious and unconscious

behaviour of the person.

(4)

Personality is limited only to the

appearance of a person.

The concentration and creativity is

related to which type of development ?
(1) Social development

(2) Moral development

(3) Intellectual development

(4) Emotional development

If a student asks a wrong question in

the class, then what will you do ?

(1) scold the student

(2) correct the question with the help
of other students

(3) will indicate the mistake by

giving example

(4) will explain the affect on the

answer due to wrong question
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Direction : Answer the following questions by selecting the most appropriate option.

31.

32.

33.

34.

I must remember my key.

What does the underlined auxiliary
'must' suggest ?

(1) Necessity

(2) Determination

(3) Promise

(4) Obligation

Which of the following sentences is
correct ?

(1) He reached the station before the
train started.

(2) I arrived at the station after the
train started.

(3) He was seeing the sea.

(4) The nightingale as well as the
cuckoo is a singing bird.

Choose the mis-spelt word

(1) Simlie

(3) Sieve

(2) Singular
(4) Siege

When learners are involved in real
communication, their
strategies for language acquisition
will be used, and this will allow them
to learn to use the language.

natural

Which approach/method of teaching
English is based on the above idea ?

(1) Audio-lingual method
(2) Direct method
(3) Communicative approach

(4) Grammar-Translation method

Level-2/252

35.

36.

317.

Choose the correct indirect form of
the following sentence :

I said to my friend, 'I don't know the

way. Do you ?'

(1) T told my friend that I did not
know the way and asked if he did.

(2) I said to my friend that I do not
know the way and asked if he
knows.

(3) I confessed my ignorance of the
way to my friend and asked him
if he knew the way.

(4) T told my friend that I do not
know the way and asked him if
he knew the way.

Choose the correct one word for

'Incapable of being wiped out or effaced'

(1) Irrevocable (2) Ineligible

(3) Indelible (4) Invincible

Choose

construction of the following sentence :

the correct passive

We made him complete the work.
(1) We forced him to complete the work.
(2) He was made to complete the work.

(3) He has been made to complete

the work.

(4) He is being made to complete the

work by us.



38. As he was not there, I spoke to his

brother.

The underlined is an example of
(1) Adverb Clause of Time

(2) Adverb Clause of Place

(3) Adverb Clause of Condition
(4) Adverb Clause of Reason

39. Identify the pattern of the following

sentence :

Nothing will make him repent.
(1) SVO 2 SV

3) SVOC 4) SVC

40.
pillow.

The underlined is an example of
(1) Hyperbole

(2) Synecdoche

(3) Transferred Epithet

(4) None of the above

41. The moral law 1s above the civil.

The underlined word in the above
sentence 1is a/an

(1) Adverb
(3) Adjective

(2) Preposition

(4) Noun
42. Which of the following sentences is
not true about Communicative
Language Teaching ?

(1) Teachers in  communicative
classrooms will find themselves
talking less and listening more.

(2) The teacher sets up the exercise,
but  because the students'
participation is the goal, the teacher

must step back and observe.

The classroom during a
communicative class is quiet.

3)

(4)

Students gain confidence in using
the target language in general.
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He lay all night on his sleepless

(12)

Direction : (@. Nos. 43 & 44) Which part of
the given sentences has an error ?

43. We are looking
(1)
for the new

3)

for a sight
(2)
School building.
4)
44. The fort at Chittor
1)
is perhaps
)
most famous
3)
than the Golconda fort.
4)

45. The idiom 'know the ropes' means

1
()

To feel awkward and useless

To understand the procedures
and details involved in something

3)

To put someone in a difficult and
dangerous situation

(4) Concede defeat

Direction : (. Nos. 46 to 50) Fill in the
blanks in the following sentences by the most
suitable option :

46. When it started to rain, the children
took shelter in a hut.
(1) close
(2) nearly
(3) near
(4) nearby

I'm going to buy
1) a

(2) the

(3) some

(4) None of the above

47.

............



48. Vanya speaks English ............ . No
wonder she won a prize in the

Elocution Contest.
(1)

@)
3)
(4)

frankly and freely

graciously and profusely
awkwardly and stiffly
fluently and correctly

49. Sahil read the letter
carefully the second time to make sure

he hadn't missed any detail.

(1)
3

much (2) many

more (4) most

50. a lot of letters yesterday.

(1) had written
2
3)
4)
Direction : (. Nos. 51 to 56) Read the
following passage and answer the questions

had been writing
wrote

has written

by choosing the most appropriate option :

A traveller who studies the menu on a
transatlantic liner or, indeed, in some
American hotels has a paralyzing sensation.
There is so much to eat — far more than he can
possibly digest. One sometimes has the same
feeling about education, which also offers an
enormous bill of fare. Almost any dish can be
found in it, from Greek to stenography, from
music to economics. How are we to choose
from the bewildering profusion ? What dishes
are we to order if we wish not merely to fill
ourselves up, but to get the nourishment
necessary to a healthy life, to become really
educated people ?

That question cannot be answered without
asking and answering another — what is
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A

education for ? If that problem were suddenly
put to pupils in school, or to students in
college, or even to parents, I doubt if all of
them could, on the spur of the moment, give a
clear and convincing reply. Most of us are
educated because our parents wish it, or
because attendance at school is a habit of our
society, or because it is compulsory, or because
it 1s apparently necessary to succeed in the
world. But these, though at the moment they
may be conclusive reasons for desiring
education or, at any rate, submitting to it, will
not by themselves secure our getting from it
what it has to give; and if we go to schools or
colleges with no more definite reasons at the
back of our minds, we are likely to rise from
our meal there replete perhaps but ill-
nourished.

Whether we are teachers or students, we
ought to get firmly in our minds the idea that
whatever else may come by the way,
education will be  incomplete and
unsatisfactory if it fails to give a clear view of
what is first-rate in the subject studied.
Otherwise we may have got some knowledge,
but we shall not have got education.

51. How does education offer

enormous bill of fare ?
1)
)
3)
4)

an

There is a lot to eat.

There are a lot of dishes available.
It should be properly digested.
There are a variety of courses to

choose from.

52. What according to the writer is

education for ?
(1)
()
3

To please one's parents.
It is compulsory to attend school.

It is necessary to succeed in the

world.
To know the first-rate in the

(4)
subject that we study.



53.

54.

55.

56.

Which of the following sentences is
not said by the writer ?

(1) There is a bewildering profusion
of courses to choose from.

(2) We should not order dishes only

to fill ourselves up but to get

proper nourishment for a healthy
life.

We should attend school to pass
exams and to secure degrees.

3)

(4)

Education will be complete and
satisfactory if it gives a clear view
of what is best in the course/
subject studied.

Which of the following is mnot a
synonym of 'profusion' ?

(1) Abundance (2) Plenitude

(3) Plethora (4) Limited

Which of the following is a synonym
of 'replete' ?

(1) Sated

(2) Starved

(3) Deprived

(4) None of the above

Which of the following seems to be the
most likely purpose of writing this
passage ?

(1)
@)

To discuss the utility of knowledge.

To describe the variety of food
available in American hotels.

(3) To guide the students to get
proper nourishment.

(4) To motivate readers to pursue
excellence in their chosen area of

interest.

(14)

Direction : (Q. Nos. 57 & 58) Replace the

underlined group of words by the most

suitable option :

57.

58.

59.

60.

Jamsetji Nusserwanji Tata was a

clever and perceptive businessman.
(1) Dense

(2) Astute

(3) Naive

(4) Gullible

This place has been officially marked
as a conservation area, and any kind
of building is forbidden here.

(1) Designated
(2) Designed
(8) Selected

(4) Identified

Since Rahul was five years old,

swimming has been his passion.

The underlined word in the above
sentence 1s a/an

(1) Present Participle

(2) Gerund

(3) Infinitive

(4) None of the above

Which of the following sentences is
incorrect ?

(1) Either you or I am wrong.

(2) He sold all his furniture.

(3) The luggage was packed.

(4) One should do his duty well.
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Mathematics and Science :

Fefigl @ gy 91 |/ 150
(P wd Foee) & &9 B B

qr - IV(a)

Candidates have to do questions from 91 to 150
from Part -
Science).

IV(a) (Mathematics and

f@er : fr=ifcifée g9 % Gav 37 & g §ag G [y gl

HMT-IV(a)/PART - 1V(a)

Tg U9 fIs</ MATHEMATICS & SCIENCE

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

frfarad & & -a1 o9 gakid ¢ ?

(31) oot wics @ dEn @1 s
HieT 2 2 |

(3) T wRds & SR R Swr g
2|

(|) ot @ fRfre eaem e & & |

(8) a1 wids & SE9R & e e
B & |

7el IR gu
(1) (&) @ (@)
@ (1), @)
®3)

@ (=), (®)

, () T (|)
q), (|) @ (3)
. (|) T

(%)

TH T AEE A B TR & W
omivEd ey TEde 9 @ie BRAr W@l
HA | g8 19 2

(1) we
(2) THifeei
(3) wRrM
(4) HIF

Level-2/252

91.

92.

Which of the following statements are
correctly matched ?

(a) Pyramid of number in Grassland
Ecosystem is upright.

(b) Pyramid
Ecosystem is inverted.

of Biomass in Pond

(c) Pyramid of Energy is always

upright.

(d) Pyramid of Biomass in Forest
Ecosystem is inverted.

Choose the correct answer
(1) (a) and (b)

(2) (a), (b) and (c)

3) (b), () and (d)

(4) (a), (c) and (d)

A gas decolourises bromine water but
does not react with ammonical silver
nitrate solution. The gas is

(1) Ethane

(2) Acetylene
(3) Ethylene
(4) Methane



A (34)

93. Fl AT F Hg AT F W e ® 7 93. Coffee is obtained from which part of
the plant ?
1) i (2) A (1) Root (2) Leaf
3) am (4) a1 (3) Stem (4) Seed
94. TiEh ¥ fFH YR H fagee 9@ S g ? 94. In mollusca which type of cleavage is
found ?
1) affa (2) sE (1) Spiral (2) Radial
(3) fawred (4) 3 | B T (3) Bilateral (4) None of these
95. IR B TE@W B F W A9 @d &, o 95. If we apply oil on door hinges, the
HT friction will
(1) % S (1) increase
(2) T SR (2) decrease
3 Ti?l?ﬂ T Bl ST (3) disappear all together
(4) smafEfdd =W (4) remain unchanged
96. R ¥ A PO FEPG-gEHE T 96. Which of the following is not an
T IEET TE T 7 example of electromagnetic waves ?
(1) T R (1) Ultraviolet rays
2) W a& (2) Radio waves
(3) Xt (3) X-rays
(4) ag § & e (4) Sound waves in air
97. 3@@ foaee § 59 umawer § oM 97. Crossing over takes place during
fafmg gar & ? which phase of meiosis ?
(1) F™e (SEMeF) afaen # (1) Zygotene stage
(2) ¥veg @?ﬁ'ﬁﬂ) arger | (2) Pachytene stage
(3) SHFHEANH oEey | (3) Diakinesis stage
(4) Tue (@@Tﬂ:{) e | (4) Leptotene stage

Level-2/252



98.

99.

100.

101.

I H T g 2
1) M'r2
@ MLT2
3) ML irt
(4 M'L727r71

BEH UH-T[F AR H IETETT ©
(1) Hy +Cly - 2HCI
(2) PbCO5 — PbO +COy

7o
(3) Ci9Hg90q; + H)O —+—
CeHi3 Og + CgH130¢

RS SheFCI]
(4) SWad ¥ 9 g &

TET & & § 99 9 991 a7 el T
e 1 FHer 7

(1) SISt &N feaeT
(2) TS W AfTHLT
(3) SIS N AT
(4) SIS T SEHIOT

IRt & feAfen™ &1 R 8

(1) agHsdE @ 9&1 &R TE R

(2) agFed H qRedl uecAn B A
LGB A R C N C R

(3) agHSHE g &N BRI THA A
BEILE]

(4) SEd F THT F SAARE IGdT

Level-2/252

(35)

98.

99.

100.

101.

Dimensional formula of viscosity is
(1)
2)
(3
4)

M2

ML T2
MLirt
M2t

An example of Pseudo unimolecular

reaction 1s
(1) Hy+Cly - 2HCI
(2) PbCO3 — PbO + CO,,

@
(3) CigHg90p1 + HiO—2—
CeH12 Og + CgH120¢
Glucose Fructose
(4) None of the above

The oil film deposited over water
surface during rainy days seems to be
coloured due to

(1) Dispersion of Light
(2) Interference of Light
(3) Absorption of Light
(4) Scattering of Light

Twinkling of stars 1is due to

atmospheric

(1) dispersion of light by water

droplets

(2) refraction of light by different
layers of varying refractive
indices

(3) scattering of light by dust
particles

(4) internal reflection of light by
clouds

P.T.O.



102.

103.

104.

105.

106.

fepell o] | TRl T & RO & HR
fFell U STEeiTer SvE % Sy
TORH & 79 § 4 B Fed &

(1) ity fereemae

(2) TTEUBBIMS fqeemaT

(3) TewAERITE e

(4) TEUTHITS e

freifafgd & & dH-91 WA & AgRE
g7

1) Al (2 B

(3) Ga 4) P

O Sig § S T U H '] S W U %
TR & dorilh Fedrdl &

(1) AT Tohmiieh

(2) gET € U U qE
(3) SIIM AT TFebrileh
(4) d 9 o qEB
R H G ©

(1) NGZB4O7 5H2O

(2) NazB407 10H20

(3) Na2B4O7 3H2O

(4) NGZB4O7 H2O

Zn|Zn* | |Cu® |Cu, ™ &1 2

(1) % @1 sg=me

(2) Cu %1 AT
(3) Cu*" & Aw==H
(4) IE F F B TE

Level-2/252
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102.

103.

104.

105.

106.

The decrease in the value of absorption
in UV band due to
substitution in a molecule is called

(1) Bathochromic shift
(2) Hypochromic shift

(3) Hypsochromic shift
(4) Hyperchromic shift

wavelength

Which among the following atom is
donar impurity ?

(1) Al (2) B

(3) Ga (4) P

Technique for transferring foreign
DNA into a host organisms DNA is
known as

(1) Blotting technique

(2) Recombinant DNA technology
(3) Gene cloning technique

(4) PCR technique

Formula of Borax is
(1) NagB407.5H50
(2) Na9yB,07.10H50
(3) Nay9B407.3H50
(4) NayB407.H50

Zn| Zn* | | Cu®* | Cu,
following is correct

In the

(1) Zn undergoes reduction
(2) Cu undergoes oxidation
(8) Cu?" undergoes reduction
(4) None of the above



107.

108.

109.

110.

111.

Frefoiaa Yaf & fhae wmivae a9 I
g7

(1) He
(3) CO»

2) O:
(4) H:

I H TE G SN YR B A B EEE
FAT 8, FEAT &

(1) oM™
(3) AT

(2 T9
(4) e

(1) THESE 9EY 9
2) fEaeET aey 9

(3) IFIgAErST gy &

(4) WSwET I

e & 9 fF9 AT & o™= AW
‘qoe FOT off B ?

(1) wmEEEH

(2) TEEEH

(3) oraged STfereR

(4) s

A T B

(1) ToxTe™ Gega &1 Gend
(2) ST 6T 1 G
(3) & EAY H IR

(4) TR GgEe & AR

Level-2/252
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107.

108.

109.

110.

111.

A

Which of the following gases has
highest value of critical temperature ?

2) 02
(4) H-

(1) He
3) CO:

Part of the eye which controls the
light entering, is called as

(1) Iris (2) Lens

(3) Cornea (4) Retina

'Deodar' belongs to

(1) Monocotyledon
(2) Dicotyledon
(3) Gymnosperm

(4) Pteridophyta

'Palade particles' is another name of
which of the following cell organelles ?

(1) Lysosomes
(2) Ribosomes
(3) Endoplasmic Reticulum

(4) Centrosome

Gastrin
ey
@)
)
(4)

Inhibits gall-bladder contraction
Inhibits gastric activity
Stimulates gastric secretion

Promotes
bladder

contraction of gall-

P.T.O.



112.

113.

114.

115.

116.

S U TS O g | 9 A SR g,
TEEH HI-A1 T STURER & 8 7

1) emgfa

2 an

(3) =

(4) S § T FE T

IR FHIRE | SaEEgET & BT §

(1) aRIRERT  (2) HI:ET

(3) SFELM (4) FFrEES G
i SihareT | e g STuEd
B 2 ?

(1) [Fe(CN),|*™ - [Fe(CN)6 [~

2 MnO, — MnO,

(3) MnO, - MnO,

4) Cr0Y —Cro}

et ¥ offere @ e oI drEar el
B & ?

(1) 3h& FA ar i o

(2) el SEe™ T Faed §

(3) urwr #

(4) SF adl A

RN BN ISR I E e K I RE b
Bl & 7

2 56
(1) ;He @) . Fe

141 235
3) 'ssBa @ " U

Level-2/252
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112.

113.

114.

115.

116.

When a light wave travels from air to
water, then which property remain
unchanged ?

(1) Frequency

(2) Velocity

(3) Wavelength

(4) None of the above

Plasmolysis in plant cell occur's due
to

(1) Exosmosis (2) Endosmosis
(3) Absorption (4) Pinocytosis

In which of the following reactions
the metal is reduced ?

(1) [Fe(CN)4 '™ - [Fe(CN)6 [~
2) MnO, — MnO,

3) MnO, - MnO,

4) Cr02~ —Cro;

In plants Auxin concentration 1is
maximum at

(1)
@)
3)
(4)
Binding Energy per

growing apex

only in Xylem and Phloem
in leaves

all of these

nucleon 1is

maximum in

2 56
(1) ,He (2) 26Fe

141 235
(3) 56Ba (4) 92U



117.

118.

119.

120.

o e &l e IR A § 7
(1)511%@’@?!%5[
(2) ATT=HE

(3) dregEHE
(4) I |

o Forqd i q9E 787 &

(1) s o7
(2) T

(3) Rt ot
(4) Ui o=t

frfeiad § & &I gaiias =i & ?

COOH COOH
NOs
M @ @ @
COOH
®3) @ (4)
NO:

NO2

freffad & @ -9 A9 3 HROT fhed
& g9 FY BT § °

(1) b 2) e

(3) ot (1) TH B

Level-2/252

(39)

117.

118.

119.

120.

Magnetic Permeability of which

substance is maximum ?
(1) Diamagnetic

(2) Paramagnetic

(3) Ferromagnetic

(4) All of these

The acid which does not contain
carboxylic group is

(1) Pyruvic acid
(2) Alanine
(3) Cinnamic acid

(4) Picric acid

Which of the following is most acidic ?

COOH COOH
N O3
M @ @
OOH COOH
<3) @
NOs

Which of the following defect causes

decrease in density of the crystal ?
(1) Frankel (2) Schottky

(3) Interstitial (4) 'F centre'



121.

122.

123.

124.

FN 41 +2+5 . &1 1040
Tg BN

(1) —23 2) 23

(3) —32 (4) 32

81 X 719 % H 5 4 fgwierg g
qUTiel BT IR BRT

(1) 51800 (2) 50800

(3) 52800 (4) TTH § B &

Frefofed § & H9-81 = @99 8
g7

12 14
O 3 @ T
17 25
@) o7 (4) 26

17 ST W 1§ 17 % & G Jifehd
21 3% F e § TEHT T UER A
foemn ST B uw At ol H @ ww
FE e 21 39 HE W UFH Ty

& B9 % WideRdr S Hiferd
(1) 9/17 ) 17/9

(3) 717 (4) 17/7

121.

122.

123.

124.

10th term of the progression

4142454 is
(1) -23 2) 23
(3) —32 (4) 32

The sum of all integers between 81
and 719 which are divisible by 5 is

(1) 51800 (2) 50800
(3) 52800 (4) None of these

Which of the following fraction is the

least ?

12 14
O 3 T
17 25
3 o7 (4) 26

17 cards numbered 1 to 17 are put in a
box and mix thoroughly. A person
draws a card from the box. Find the
probability that the number on the

card is a prime number
(1) 9/17 (2) 17/9

(3) 717 (4) 17/7

% %@ % T SFE/SPACE FOR ROUGH WORK

Level-2/252



125.

126.

127.

128.

290-28+27-26+25—-24+23-22="

(1) 124 (2) 48

(3 4 4 1

2.33 x 2.33 + 0.33 x 0.33 — 0.66 x 2.33
fhe® TEY B 7
(1) 2.66 (2) 0.4

3) 4 4) 2

‘g FEAT # U 217 TE B
T & fhE g 4 gearad © 7

(1) i
(3) |THINT®

(2) SAIATE Gl

(4) ST T

w Mg F & R gent H ST 5 : 3 B
e i & de geu @ e § 40 B
&, @ &l AT gE i g we B

(1) 100 (2) 160

(3) 200 (4) 500

(41)

125.

126.

127.

128.

A
29-28+27-26+25—-24+23-22="

(1) 124 (2) 48

(3) 4 4 1

2.33 x 2.33 + 0.33 x 0.33 — 0.66 x 2.33
is equal to

(1) 2.66 (2 04

3) 4 4) 2

the mirror of

civilization." This statement corresponds

"Mathematics 1is

to which value of maths ?

(1) Cultural (2) Disciplinary

(3) Social (4) All of the above

In a village, ratio of men and women
is 5 : 3. If women are 40 less than

men, then sum of men and women is
(1) 100 (2) 160

(3) 200 (4) 500

% %@ % T SFE/SPACE FOR ROUGH WORK

Level-2/252



A

129. ffafad ofidet & o f9-d1 w6 &t

130.

131.

g7
-2,2,1,0,5,4,5,7,5,11, 12
(1) Hreg = Hifeaen = S8

(2) HifegehT = TETh
(3) HEA =5
(4) HIEA = gl

a dEell & PEwA 48 B I A
P ARTEA 100 T 1 3 I deed @
N ST i

(1) 14 (2) 16

(3) 19 (4) 24
2 2 2 2
+

=4 = IRTEA
10 1000 100 10000

T it
(1) 0.1088 (2) 0.1288
(3) 1.0822 (4) 0.1822

(42)

129. Which one is correct for the following

130.

131.

data ?

-2,2,1,0,5,4,5,7,5,11, 12
(1) Mean = Median = Mode
2)
3

(4)

Median = Mode

Mean =5

Mean = Mode

The product of two numbers is 48.

The sum of their squares is 100. Find

the sum of these two numbers

(1) 14 (2) 16

(3) 19 (4) 24

Find the sum of :
2 2 2 2
— 4+ - +
10 1000 100 10000

(1) 0.1088 (2) 0.1288

(3) 1.0822 (4) 0.1822

% %@ % T SFE/SPACE FOR ROUGH WORK
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132.

133.

ﬁ%x+l=nﬁ'ﬁ+3%€mmmam

x x
FifoT
(1) p? (2) p?2+2
(3) p?-2 (4) p>—-4

fFl TR @ S 20000 1 39
fafr= s i a2 o § el
™ E| ged o oI ged #9 He
a FET H @ ARl B ST AT
g ?

(1) 2640

(2) 3640

(3) 6320 (4) 5320

(43)

132.

133.

A

If x+l= p, then find the value of

X

9 1

X +x—2
(1) p? (2) p?2+2
(3) p*-2 (4) p*-4

The pie chart shows various professions.
The population of a town is 20000. Then
find what is the difference between the
maximum number of people involved
and minimum number of people

involved in various professions ?

Service

Agriculture

Industry
30%

(1) 2640

(2) 3640

(3) 6320 (4) 5320

% %@ % T SFE/SPACE FOR ROUGH WORK

Level-2/252



A

134. Il 17200 i 18 @ fgwiforg fmar ran

135.

136.

g, T QI B8R
1) 1 2 2
3) 16 4) 17

1,200 9 & A, B X C ¥ 39 UK
g T 2 % A F 9 B @ 200 %o
3 & X C & 200 To &7 21 B &

a2
(1) 400 %o (2) 600 %0

(3) 200 Ho (4) 100 Ho

F5 o9 15 99 6 We § RO & S &,
dl fobas g H F& g B ?

(1) 639 9HE
(2) 799 9 HE
(3) 899 3HE

(4) 999 6HE

(44)

134.

135.

136.

If 17200 g

remainder is

divided by 18, then

(1 1 (2 2

(3) 16 (4) 17

Rs. 1,200 1s divided between A, B & C
such that part of A is Rs. 200 more
than B's part and Rs. 200 less than
C's part. B's part is

(1) Rs. 400 (2) Rs. 600

(3) Rs. 200 (4) Rs. 100

Any amount gets triple in 15 years
6 months, then in how much time will

it be double ?

(1) 6 years 9 months
(2) 7 years 9 months
(3) 8 years 3 months

(4) 9years 6 months

% %@ % T SFE/SPACE FOR ROUGH WORK

Level-2/252



137.

138.

1

V40 ++/20 ++/10 - /80
g

bl HI X

(1) 71—0(3\/E+ 2J§)

@ = [10-245)

@ (810 +245)

@ —(2v5-3410)

1
70
Rpell o & @ H 60% @ gfs @l
S 21 IEH AR Rl fhdd diged
g 9 {6 SHE a9%d 99 @ 7

(1) 37%% (2) 60%

(3) 75% (4) 120%

(45)

137. The value of

138.

A

1
V40 ++/20 ++/10 —+/80

1s equal to

(1) 71—0(3\/E+ 2\/3)

@ = (vi0-245)

® = (810 +25)

@ —(2v5-3410)

L
70
The length of a rectangle is increased
by 60%. By what percent would the
width have

to be decreased to

maintain the same area ?
1) 37%% ) 60%

(3) 75% (4) 120%

% %@ % T SFE/SPACE FOR ROUGH WORK
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A

139. P FHIE (1964-66) 7 TOME &

140.

141.

yEied UreEsRd § e HEE § |
FHEA Bl qaE ® 7

(i) TR T AT ACTHA ST 2 |

(i) 399 FRae JUT A SR A
AT T |

(iii) TTEHA ST ST 2 |

@e] IR G

(1) ®T @)

(3) (i) 7 (iii)

(2) )9 @)
(4) (@), (i) 9 (111)

TEET (x — 99) (x — 97)
@-1)F % 1 TE B

(1) —4900 (2) —2400
(3) —2500 (4) —98°
J8 & 72% =7

(1) 5.6 2) 3.6
(3) 2.4 (4) 2.6

(46)

139.

140.

141.

Which of the following defects are
pointed out by Kothari Commission
(1964-66) in traditional curriculum of
Mathematics ?

()

Present curriculum of mathematics
1s inadequate.

(1) Lack of creative and constructive
activities.

(111) Curriculum is over packed.
Choose the correct answer

(1) O & 1) 2) O & (i)

3) (1) & (1) (1) @), (1) & (ii1)

Coefficient of x*°

x—-99) (x—97) ....... (x—3)(x—1)1s

in the product

(1) —4900 (2) —2400
(3) —2500 (4) —98°
J72% of 8 =72

(1) 5.6 2) 3.6
(3) 2.4 (4) 2.6

% %@ % T SFE/SPACE FOR ROUGH WORK
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142.

143.

144.

145.

146.

ot 1 qredyEs H favesy & e
Bl =ifed

(1) awmiagw

(2) 9IgTHPH & TIEAR

(3) Tk &

@ TN A

A, B3R CH T&H %X 2,080 Fo & A
T @ 9T 59 U 14 g9, 16 HUS
qar 22 g¢ WA H ol C @ fohae
ST 93 ?

(1) 880 %o (2) 1,280 %o

(3) 1,040%0  (4) 960 o

360 % |l IR fauq Rl & AT
(1) 78 @) 77

(3) 75 (4) 81

HIfeTe

(1) 6 (2) 8

3) 9 4) 12

g a=\/3—\/z, b=y7-6 @
c=\/ﬁ—\/ﬁ %,&_‘IE[

(1) a<bd @) b>c

3) b<c 4) a<c

(47)

142.

143.

144.

145.

146.

A

The organization of content in the
textbook of Mathematics should be

(1) According to teacher

(2) According to curriculum

(3) According to students

(4) None of these

A, B and C hired a car in Rs. 2,080
and used for 14 hours, 16 hours and
22 hours respectively. How much will
C pay ?

(1) Rs. 880 (2) Rs. 1,280

(3) Rs. 1,040 (4) Rs. 960

Sum of all odd proper divisors of 360 is
(1) 78 @) 77

(3) 75 (4) 81

Find the value of

(1) 6 2) 8

3) 9 4) 12

If a=+5-4, b=+47-46 and
c:\/ﬁ—\/ﬁ,then

(1) a<bd @) b>c

3) b<c 4) a<c

% %@ % T SFE/SPACE FOR ROUGH WORK

Level-2/252



147.

148.

149.

150.

e Rl @ B TF R a B, O 29
T 98 § 98 g9 H &= el

(1) %naz (2) inaz

3) %na2 4) 4na?

ye M Ui geEneti § /a1 B ofw
B ITH W TH AE AWl B AR
B &l e ©

1 1
(3) 2/3

(2) 1/3
4) 1/2

FHET 20% +2x+5=0 % TA ¢

(1) qfEg
(3) g9

(2) MREY
(4) FAR

SHT 250 ¥ d=1 ¢ @ IW 50 T &
e g & SR @9 B & | SEd

Y gfqerd foham & ?
(1) 5% 2) 10%
(3) 20% 4) 25%

(48)

147.

148.

149.

150.

If one side of a square be a, then the
area of the largest circle in it, will be

1 9 1 9
1) —ma 2) —ma
()2 ()4

3) %na2 4) 4na?

Choosing two different numbers from
the
probability of one of the numbers to

first three natural numbers,

be maximum of three is

1 1 (2 1/3
(3) 2/3 4) 1/2
The roots of  the equation

2x2+2x+5=0 are

(1) rational (2) irrational

(3) equal (4) imaginary

Umang sells 250 apples then he gets
profit equal to sell price of 50 apples.
What is his profit in percentage ?

(1) 5% (2) 10%

(3) 20% 4) 25%

% %@ % T SFE/SPACE FOR ROUGH WORK

Level-2/252
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A

QIS TSI

(50)

Social Studies :

F=El H e 91 § 150
(qrfores orera) & &0 F T

q - IV(b)

Candidates have to do questions from 91 to 150
from Part — IV(b) (Social Studies).

f@sr :

Direction :

HET - IV(b)/PART - IV(b)
gHTSTe  TEII-/SOCIAL STUDIES
=T gedl % Gav a7 & [ qad Sfa A% g

Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

S, 1789 %o H WH # ¥ 3 R
AU ST H A B

(1) @ S

(2) VIR =

(3) forwreg (foreem)
(4) wva A

=1 & § oliE o1g &

(1) e ©2) FawE
(3) (4) o

TG & @EN F T 9RG & dod &=
el ST B

(1) HMUSA TF IAU THR
(2) FRFUSH T HAER

(3) I WEHR T HiHT

(4) HEER T4 HTs
fercan ger e o

(1) T

(2) 9T #

(3) Bl MY &

(4) R &

ARG § g Sl G U g

(1) w=9 H

(3) = |

(2) il |
(4) g H
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In June, 1789 A.D., the Third Estate
and National Assembly in France was
led by

(1) Danton

(2) Robespierre
(3) Mirabeau
(4) Marat

Which of the following is non-ferrous
metal ?

(2) Cobalt
(4) Lead

(1) Manganese
(3) Steel

The Indian coastal plains along the
Bay of Bengal are called as

(1) Coromandel & Northern Sarkar
(2) Coromandel & Malabar

(3) Northern Sarkar & Konkan

(4) Malabar & Kannad

Birsa Munda was the resident of
(1) Calcutta

(2) Patna

(3) Chhota Nagpur

(4) Munger

The first English Factory was started
in India at

(1) Madras (2) Hugali

(3) Bombay (4) Surat
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frfofad & | ®9-a1 Tomias & TS
T P AN F JEF R ?

(1) fereE

(2) ARG ST 9rel

(3) WA WSed HIF
(4) FESF HHIST Urel

feee® Z Nfd Ao &Y § e § 9
HF-A1 7&F o ?

(1) b I G B GMET H
(2) SHAI BRI @ T g Y TS Y

(3) Al % UM ARG N T A B
(4) S el ® gEW & HHE A

AT AT SRO-REE w A

FEAT &, FlD

(1) A gam IR-gE @ afrrufiEm
feem & =l 2 |

(2) WNEA A afRerafiEm # Iw-ud
feem & @l 2

(3) HMET H9H Ted AT & GROT-gieEm
9§ S 2

(4) I F F FE T

we fqadte fer & ogan, A
qed F T R AR & Aed-ggE |
g e ?

(1) &= 7em™r
(2) <fE |
(3) IR AR
(4) 9= AR
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A

Which of the following political
parties is not in the category of
National Party ?

(1) Shiv Sena
(2) Bhartiya Janta Party
(3) Indian National Congress

(4) Bahujan Samaj Party

Which amongst the following was not
the Nazi Programme announced by
Hitler ?

(1) To have the treaty of Versailles

amended
To

territories

the lost German

(2) recover

3)
(4)

To restore the old German glory

To enable the German women

equal to men

The Indian Monsoon is called 'South-
West Monsoon', because

(1) Monsoon winds run through North-
East to South-West direction.
Monsoon winds run through South-
West to North-East direction.
Monsoon hits South-West part of
India in the beginning.

(2)

3)

None of the above

(4)

According to Plate Tectonic Theory, the
formation of Himalayan mountains
took place from the compression of the
materials of which sea ?

(1) Indian Ocean
(2) Tethys Sea
(3) Caspian Sea

(4) Mediterranean sea
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I 39 SRl W & 9H B JAR 787 gal

(1) s
(3) 3USMfmE

(2) i
4) 9

e 11 G A M I e s | £ | o A i
HAG & fhg orfeEyE § forar o ?

(1) SfeHarErR
2) T=E
(3) TAGR
(4) v

1930 o H 30 F@ THIUIN fHed
i & ?

(1) =fo o o F=THT
(2) Her et

(3) HferelT Bt

(4) A e

39E e BN A S A HEd ©

() WR
GVRSIEIES

(iii) ¥ae|

gl IR T

(1) @) T @)

(2 () &R (i)
(3) (ii) o (i)
@ (@), () &R (i)
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The country, where Buddhism was
not propagated

(1) Thailand  (2) SriLanka

(3) Indonesia (4) Greece

In which Session of the Indian
National Congress decision was taken

for the Non-Cooperation Movement ?
(1) Ahmedabad

(2) Bombay

(3) Nagpur

(4) Patna

Who founded Depressed Classes
Association in 1930 A.D. ?

(1) Dr. B. R. Ambedkar
(2) Mahatma Gandhi
(3) dJyotiba Phule

(4) Maulana Azad

Techniques adopted by pressure

groups are :

(1) Propaganda

(i1) Lobbying

(111) Demonstration
Choose the right answer
(1) @) and (i1)

(2) (1) and (i11)

(3) (i1) and (iii)

(4) (@), (1) and (ii1)
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78] S e
(1) T, F, AT Q) o, AT
(B) T, AT (4 #, 9,9 3T

YRR G UF FEX 9T S A
arfveral & Sfeafad 2, 599 acd ®

(1) sTrl & FgeE | & T M
(2) foemeEl ® gad 9@

(3) R @ & T g

(4) TS 9 A g

forifeiitaa & & FI9-91 Sardg a9 7 7

(1) HER 9

(2) @ &=

(3) SwERiCEH] qolrl a
(4) TS aut g+
Hfqea & AR, g 8
(1) TG * 5=

(2) | I FEIURTE B T
(3) g HIHR & TgE

(4) €9 YAET F TP

S § i e’ e ger ?

(1) 9, 1859 % (2) wWE, 1857 H
(3) W, 1776 F (4) T, 1880 &

Level-2/252

104.

105.

106.

107.

108.

A

Which of the following objectives can
be achieved through a multi-purpose
hydroelectricity project ?

(a) Hydroelectricity

(b) Canal irrigation

(¢) Flood control

(d) Water sports development

(e) Potable water supply

Choose the correct answer

(1) a,b,dande (2) a,b,cande

(3) a,bande (4) a,b,c,dande

"Vellanvagai" was the kind of land
referred in the Chola inscriptions, it
denotes

(1)
(2)
3)
(4)

land granted to the Brahmins
land given to the schools

land given to the temples

land of the Farmer other than
Brahmin

Which of the following is a tidal
forest ?

(1) Conical forest

(2) Mangrove forest

(3) Tropical deciduous forest

(4) Tropical rain forest

According to the Constitution, Prime

Minister is

(1) Head of the States

(2) Head of the Union Council of
Ministers

(3) Head of the Union Government

(4)

Head of the Union Administration

When the 'Indigo Revolt' took place in
Bengal ?

(1) March, 1859 (2) May, 1857
(3) April, 1776 (4) March, 1880

P.T.O.
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IRAE T T B T

(1) @@ (1539) % g8
(2) I=q (1528) % = H
(3) TMerpUeT (1687) &% I5 H
(4) F=IRAT (1532) & F&

HIF-AT I & P 38T 7@l & ?

(1) SO AR & Y=’ &l
(2) W @ SEACHS [IH™ BT

(3) AT H ET HEAT

(4) TTHR T &l SATHIET

ferrer & 3 =nfedr o S 8

(1) geq fewem wd = fewed & 9ed
(2) geq eI U @R Tadl & qe
(3) =1 e wd Rrenfees wei & Hed

(4) = fenem ud FERm gddr & 9e

fyfesr TR TR R ‘date v @)
Jifd 1o

(1) = e
(2) e sffpere
(3) e Fivared
(4) o P
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Shershah defeated Humayun in the
battle of

(1) Chausa (1539)

(2) Chanderi (1528)

(3) Golkunda (1687)

(4) Dohariya (1532)

Which is not the aim of a political
party ?

(1)
(2)

To propagate own ideology

The spiritual development of the
people

3
(4)

To form the public opinion

Aspiration to form the government

Doon Valleys of Himalaya are

situated between

(1) Greater Himalaya & Lesser
Himalaya

(2) Greater Himalaya & Karakoram
Mountains

(3) Lesser Himalaya & Shivalik
Mountains

(4) Lesser Himalaya & Karakoram

Mountains

The British Governor General who
adopted the policy of 'Paramountcy’,
was

(1) Warren Hastings
(2) Lord Auckland
(3) Lord Cornwallis
(4) Lord Hastings
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TSl 2 § & HA-4 290 # ARa |
ATGT HH HHAA: AYHTH d FATH
S Al § 7

(1) &9 Td ger

(2) TR TG Y

(3) =N TG HABITET
(4) TFARY TE HBIEA

ARG H 4IH gl wuel e it g e

(1) & (1700) &
(2) YREEE (1765) &

(3) °TEHEEE (1919) #

(4) =2 (1854) &

qRAT SO Sfaer § RH-9 39
4 uRd ® SHEen gha oAfeaH  ofih
T 7

(1) 1951-1961
(3) 1971-1981

(2) 1961-1971
(4) 1981-1991

gicerE § faf@l & @ B.C.E. Ug# &l
2, SHEH ad @

(1) faBR FFees Ty

(2) ®R #HEA 20

(3) f®R HEE Uil

(4) feR &g8 5

e EE, FE Jewe A & 1191 F
ERUECRERIN

(1) It (2) IS
(3) gHERS-IIT (4) &
TA-THT &

(1) f&= 7@ & T% ™ o)

(2) f&= qeM@rR @ uH T &4

(3) ot U WM H UH T
SIKd]

(4) RN 9AFT HEMIR @ TH T Edr
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A

Amongst the neighbouring countries
which countries are having longest
and shortest international boundaries
respectively with India ?

(1) China & Bhutan

(2) Bangladesh & Bhutan

(3) China & Afghanistan

(4) Bangladesh & Afghanistan

The First Cotton Textile Mill was
established in India at

(1) Surat (1700)

(2) Murshidabad (1765)

(3) Ahmedabad(1919)

(4) Bombay (1854)

In the history of Indian census, in
which decade the population growth
of India was recorded highest ?

(1) 1951-1961  (2) 1961-1971
(3) 1971-1981  (4) 1981-1991

B. C. E. is used with the dates in
history; it means

(1) Before Christian Empire

(2) Before Common Era

(3) Before Christ Entiti

(4) Before Century Era

Chauhan  ruler who  defeated
Muhammad Ghori in 1191, was

(1) Ajayraj (2) Arnoraj

(3) Prithviraj-IIT (4) Hariraj

El-nino is a

(1) A warm current of Indian Ocean

(2) A warm air of Indian Ocean

(3) A warm current of South Pacific
Ocean

(4) A warm air of South Pacific Ocean

P.T.O.
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1780 %o ¥ uR9 Ry ™ TG TWNe
qries IBEE & GuEd B F 7

(1) S Sffred feah
(2) faferm dieed

(8) MR werEmW

(4) TSI THARA ™

T SHge  |ifa-2000 & @& &
FAR HF-9 a9 § AR e @
STEE WX O B ¢

(1) 2015
(3) 2035

diqa & [6E e N TH-HEN b
fore ey omaE R e 7

(2) 2025
(4) 2045

(1) =T 368
(2) =T 370
(3) ITT=T 369
(4) Fg=T 371

TETERI Bl &
(1) &gt & Fra 9 gfa @
(2) TER % IE THAl H T 4

(3) ga1 e | & A
(4) a1 FrfEe ¥ gl @

ARG & GO 9 ® 9 &9 § Rq
FXAT & 7

(1) Tl # HY

(2) wWies o

(3) uftEH

(4) ©
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Who was the editor of the weekly
magazine Bengal Gazette started in
1780 A.D. ?

(1) James Augustus Hickey

(2) William Bolts

(3) Gangadhar Bhattacharya

(4) Raja Ram Mohan Roy

According to the targets of the National
Population Policy-2000, in which year
Indian population will achieve the
status of stable population ?

(1) 2015 (2) 2025
(3) 2035 (4) 2045

Which Article of the Constitution

makes special provisions for Jammu
and Kashmir ?

(1) Article 368
(2) Article 370
(3) Article 369
(4) Article 371

Inflation is caused by

(1) increase in supply of goods

(2) increase in cash with the

Government
(3)
(4)

decrease in money supply

increase in money supply

Constitution of India describes India
asa

(1) Union of States

(2) Voluntary Federation
(3) Confederation

(4) Federation
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FI T -9 AH A J TEe aR qE
§ IgHd @ o ?

(1) 1967 2 1977 #

(4) A § PE &

A SR BT ST A ®

(1) % F 901 9w & e

(2) =% ¥ oW % e

(3) % ¥ o 5 % faes

(4) dre Sfftee o el s & faes

(3) 1980 #

HiqaT | H goH AT g

9 feT™aR, 1946 &
11 RRE=IX, 1946 #
35, 1947

26 SFa, 1946 F

1
@)
3
4

ABR S B AER H ' OF a2

Al Haefves IR & w9 § 7 B

(1) SFaTe FHOT I @A

(2) H® & AEBR

(3) N % fI6s STIER

(4) TTEETE F B Aeroes GEel @
T 1 SRR

= | #-9 gar § T T R H
BT S50 AfE Bl & 7

(1) wEEEE qaT
(3) el gaT

(2) SIG g
(4) wEdE Fa
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A

In which General Election did the
Congress Party lost majority in the

Parliament for the first time ?
1) 1967 @) 1977

(3) 1980 (4) None of these

Cheque can be issued against
(1) demand deposits in bank
(2) fixed deposits in bank

(3) without deposits in bank

(4) fixed deposits in post office

The

Constitutional Assembly was held on
(1) 9 December, 1946

(2) 11 December, 1946

(3) 3 dJune, 1947

(4) 26 January, 1946

First Session of the

The Right which is legal but not
Constitutional

(1)
(2)
3)
(4)

Freedom to move freely

Right to property

Right against exploitation

Right to minorities to establish

educational institutions

Among the following, which soil is
having very high moisture retention
capacity ?

(1) Desert soil (2) Alluvial soil

(3) Black soil (4) Mountain soil

P.T.O.
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frfafgd & & @F-@1 o6 FdEciE
Hare 787 & 7

(1) g-ard S

(2) A FHel

(3) oft foErq
(4) ATy e

fFrifafad § @ SRR & Wag @9 DHiE-a1
g7

(1) =& F A

(2) wa H Tl

(3) mH & Tl

(4) T R H F

BT & a9 ¥ 9rg § GDP fafy= &= @
forfeiitaa oraRigl w9 & e 2 W@

(1) N, faftmier o FdEe 8=

(2) fafmior, Y wd FEs &=

(3) Jaas &, fafyeier ud iy &=

(4) geftass &=, FY oo fafseor &=

ole U fqawor §

(1) o™ AR o &

(2) a&gell & @lE ud foE &
(3) a&getl & B H

(4) Haq g SR GWIfad =@ @
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Which one of the following is not

renewable resource ?
(1) Geothermal energy
(2) Tidal energy

(3) Hydro-electricity

(4) Fossil fuel

Which of the following is revenue
expenditure of the Government ?

(1) Payment of interest

(2) Purchase of building

(3) Purchase of machine

(4) Loans to State Government

During recent years the GDP in India
from different sectors is received in

the following descending order

(1)

Agriculture, manufacturing and

tertiary sector

@)

Manufacturing, agriculture and

tertiary sector

(3) Tertiary sector, manufacturing

and agriculture sector

(4)

Tertiary sector, agriculture and

manufacturing sector

Budget is a statement of
(1)
(2
(3
(4

income and expenditure
purchase and sales of goods
prices of commodities
expected income and expected

expenditure
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fr=fafad & & #F-a1 99 fawE go®
(HDI) &1 9e% &7 & ?

(1) 9 [ o (FFa TSE 9TF &
MR W)

(2) T & THF AT T

(3) | TSI &

(4) @A U g

SIENIEEAEISEIENE Ik CHU IR CEIRE
FH o 7

(1) 9fveq we&

(2) WHo THo I

(3) THo To B

(4) SUYHE H § 5 T

ART § [FHl U9 & faaae § oAk
e & T &

(1) 400
(3) 500

WRA | T A AT B AR &

(2) 450
(4) 600

(1) TS AT &R

(2) 9RAE Hiegeh! e g

(8) H=M HifeFHl Te &

(4) TS e qIE FW
TUST-21 %l IO &2

(1) ¥oq gedt g9, 1992 1

(2) fadE gedl g=ie, 2002 |

(3) T gl g, 2012 |

(4) 999 fagg Seary g, 1979
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A

Which of the following i1s not a
constituent of Human Development
Index (HDI) ?

(1) Per Capita Income (on the basis
of Gross National Income)

(2)
3)
4)

Life expectancy at birth
Gross Enrolment Rate

Health and Nutrition

Who was the main Indian thinker of
Democratic Socialism ?

(1) Pandit Nehru

(2) M. N. Roy

(3) S.A.Dange

(4) None of the above

The maximum number of members
that the Legislative Assembly of a

State in India can have
(1) 400 (2) 450
(3) 500 (4) 600

National income in India is estimated
by

(1) Planning Commission

(2) Indian Statistical Institute

(3) Central Statistical Organisation
(4) National Sample Survey

Agenda-21 was declared in

(1) First Earth Summit, 1992

(2) Second Earth Summit, 2002

(3) Third Earth Summit, 2012

(4) First World Climate Summit, 1979

P.T.O.



A

138.

139.

140.

141.

142.

SO — 2011 % PR WA A
SEE B U feTga sEen E

(1) 382,943
(3) 424, 830

(2) 380, 930
(4) 390, 935

TIQA & Th-ers (1/3) Ted Ty eid
g

1) u3% a¥
(2) yo% I a9 |
(3) 9d® dF a9 A
(4) ® Tl

I Gfag & e @ R anas
e oTfafEm 3 it gefad foeam ?

(1) 9™ smae e,
(2) WA smae A,
(3) ARG e ST,
(4) A e ST,

1909
1919
1935
1947

STTIET B AR FHifoTT

(1) 9RaE Ve %

(2) T %

(3) THEIEHI §%

(4) Tt 9% o gfea

ArNfere drrett & ot B9y &=t § oeh
i1 G O | | S | e

(1) Hberwa st
(2) g S

(3) o Swferdt
(4) T STt
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2011 the

density of population and sex ratio

According to census -

respectively in India are
(1) 382,943 (2) 380,930
(3) 424, 830 (4) 390, 935

One-third (1/3) members of Rajya
Sabha retire

(1) Every year
(2) Every two years
(3) Every three years

(4) Never retire

Which Government of India Act
profoundly influenced the making of

Indian Constitution ?

(1) Government of India Act, 1909
(2) Government of India Act, 1919
(3) Government of India Act, 1935
(4) Government of India Act, 1947

Find out the odd

(1) State Bank of India
(2) Canara Bank

(3) HDFC Bank

(4) Central Bank of India

Species which are confined to some
particular areas usually isolated by

geographical barriers are known as
(1) Endangered Species

(2) Extinct Species

(3) Rare Species

(4) Endemic Species
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IRd | fam e @
(1) Th TEE He
(2) TH TARHT FEq
(3) UF G+ T
(4) ©F Jaqiven TR

frfaread § & Ree 9% Faiia 787 &
g

(1) ¥ T
(2) W T
(3) Rad W @
(4) TEHT T

ST — 2011 % FPAR AT § 0-6 a9
% Ag o H ST & AgH:

14 F3
16 Fs
18 HlIs
12 FS

1
@)
3
4

g Afes e & omdde d @
o 7ef R S 9, 98 &

(1) 9rifcigees e &l &=
(2) e &I wd=rar
(3) Siiad Ud AR =il H HET

(4) enfie T@d=ar @1 SRR
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The Finance Commission in India is
(1) an autonomous body

(2) an advisory body

(3) a constitutional body

(4) a statutory body

Which of the following is not decided
by the Reserve Bank of India ?

(1) Bank Rate
(2) Repo Rate
(3) Reverse Repo Rate

(4) Income Tax Rates

According to census - 2011 the

population in the age group of 0-6
years in India is approximately

(1
2)
3
(4

14 crores
16 crores
18 crores

12 crores

The Fundamental Right which
cannot be suspended even during

emergency is
(1)
(2)
3)

Freedom of assembling peacefully
Freedom to reside

Protection of life and personal

liberty

(4) Right to freedom of religion

P.T.O.
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eI ENT & U8 @ dahdl &

(1) @\ & fodl o @& |

(2) wrwaHr ¥

(8) T~ga« H

(4) IoH EEE |

el arefererer § Sl U9 @Esve & |
O] T SMET EXel &

(1) P it

(2) onfi¥e Tffafedt @t uepfa

(8) & & @i

(4) SugFE a+d

frg & @ P9-T1 #d 9 Red 9% @
TETE 7

(1) F&T M &

(2) THR & FaX

(3) TWINEN Te &l P

(4) ST ® T a9 dre

e T S § ghs e B, 99

(1) AETF TEA H FHd 96 I 2 |
(2) @M & F=d g A 2 |

(3) Afemawdr ¥ 9&T &I U 9% SR 2 |
(4) FemEE § FH IUEA g6 S © |
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Impeachment proceeding against the

President for violation of the
Constitution can be initiated in

(1) Either House of Parliament

(2) The Lok Sabha

(3) The Rajya Sabha

(4) Supreme Court

In an economy, the sectors are

classified into public and private on
the basis of

(1)
2)
(3
(4)

working conditions
nature of economic activities
ownership of enterprises

all of the above

Which of the following is not the

function of Reserve Bank of India ?
(1) Issue of notes

(2) Banker to the government

(3) Clearing house function

(4) Loan provider to the public

There 1s an increase in real national

Income, when
(1)
2)
(3

prices of essential goods increase.
savings of the people increase.
supply of money in the economy
increases.

(4) total production in the economy

Increases.

Level-2/252



	LEVEL2-P1-CDP.pdf
	LEVEL2-P2-ENG.pdf
	LEVEL2-P3-HIN.pdf
	LEVEL2-P3-PUN.pdf
	LEVEL2-P3-SAN.pdf
	LEVEL2-P3-URD.pdf
	LEVEL2-P4-A-MAT.pdf
	LEVEL2-P4-A-MAT.pdf
	40-48 Lev 2 Math  SET A.pdf

	LEVEL2-P4-B-SOC.pdf



